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/~Review #2 Pre-Caleulns 12 Chapters 4- 6

Complefion
Cormplete each siztemert.

The cosins of an angle is neg ahwe, i quadrant 0T (negative or positive) o T c

L

10.
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"The sins of an angle is pOSH_‘]'ﬂ‘ in quadrant L (negative or positive)

The reciprocal of tangent is CO‘f‘U.ngU‘l +

The smallest non-negative vahie for sin x occrrs when the angle in standard position is

Q’, 180° ’320' . (Answer in degrees)
vert.

Far the fimction y = acosh{x—c) +d, d affects the_cliSpla@ment of the graph.

The period of the basic sine fimction is 200 300"

Thcmaﬁmmvalucofﬁcﬁmcﬁuny=3ms[£x} —9is -b . max =

-6

.Thcpeﬁodofﬂle,ﬁmﬁony,:”—sm[%(x—9)]—3is b . . YA

Thaphaseshiﬁofthcﬁmcﬁony:—Ssin(% (x—7)]+2is 1 wmit(s) to the
ru’ghi— )
tomx = X and poby = are knowa as the gugﬁgn{- identities.

~ cosx sinx

. X =z 00+ 3001
The general sofution, in degrees, for the equation cosx 5 =0is__ X = 30D° + 20N
P
hel
The reciprocal idenfities are defined 25 osox = Siny
secx=__ COSX and
cotx = tan X

ID: A

Cosx =

-
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Matehing (
Match cach trigonometric expression with an equal expression to form a trigonometric identity.
sin[ﬁ+£) = sin® cos% + cosgs'm-%

z .
{5 » Wk .
2 : cos(a+-’25] cosOcosE —snOsint
E{i’f,_g] = Sin® (6) +cosO()
2

= 505(52—"_9] E ‘W}%%{gﬂ—g] cos® (0) - sin@( 1
cos] =2 — |
C. cos[e +%] \E\\k&k%\l\ = _(‘s(;; (; A

2 -cot &

So(atf)

C = (esca—1){1+csca) = CO + 0(

A " sina +cosa taoP \‘1(“( - ,S I’l‘ B\ kj
- cesu#mmﬁﬁ/ o os L1+ B)

D sinda-snda = +an X

LT cos20 +oosda
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Maich each equation with is graph.
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